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HX 39,925 86,578 41,315 45,263
RIRET1T 6 15 9 6
RIRET2T 29 57 27 30
RIRET3T 180 591 287 304
RIRET4T 407 985 494 491
B 622 1,648 817 831
REH 2,682 6,052 2,816 3,236
L&A 4,348 9,522 4,436 5,086
5E 2,627 5,949 2,882 3,067
B AN 1,303 2,856 1,351 1,505
BERT 1,368 1,967 943 1,024
BER2T 784 1414 684 730
BERST 529 1,210 572 638
B 2,681 4,591 2,199 2,392
BEXRE 274 658 324 334
= 2,224 5,073 2,405 2,668
hERE 641 1,430 656 774
e 2,486 5,171 2,506 2,665
25 L ET 2,330 5,104 2,440 2,664
B &AL BT 77 157 64 93
HEFILET1T 567 1,206 566 640
HEFILET2T 612 1,287 603 684
HEZFILAT3T 645 1,475 724 751
g 1,901 4,125 1,957 2,168
B & it B Fr ET 681 1,581 769 812
BHEREBET1T 581 1,182 573 609
BHERERET2T 766 1,716 817 899
BHERERETST 769 1,593 726 867
BHERERET4T 518 967 456 511
HEKERETST 848 1,733 832 901
HEERET6T 893 1,942 944 998
BHERERET7T 877 1,834 904 930
HERERETST 70 213 104 109
£t| 5322 11,180 5,356 5,824
HEF R FET 1,961 4,091 1,997 2,094
S|EFET1T 621 1,576 789 787
S|EFET2T 772 1,752 830 922
S|EFET3 T 747 1,415 644 771
g 2,140 4,743 2,263 2,480
ERE1T 587 1,355 654 701
EIRET2T 388 1,037 521 516
EREIST 513 1,338 653 685
EIRETAT 690 1,476 660 816
EIZEIST 541 1,109 570 539
g 2,719 6,315 3,058 3,257
ME A 2,871 6,282 2,991 3,201
J\THET1T 35 37 13 24
J\THET2T 25 58 29 29
J\THEI3T 52 112 50 62
B 112 207 92 115
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